

Math. J. Okayama Univ. 60 (2018), 209-219

NECESSARY AND SUFFICIENT TAUBERIAN CONDITIONS FOR THE A^r METHOD OF SUMMABILITY

ÖZER TALO AND FEYZI BAŞAR

ABSTRACT. Móricz and Rhoades determined the necessary and sufficient Tauberian conditions for certain weighted mean methods of summability in [Acta. Math. Hungar. 102(4) (2004), 279–285]. In the present paper, we deal with the necessary and sufficient Tauberian conditions for the A^r method which was introduced by Başar in [Firat Üniv. Fen & Müh. Bil. Dergisi 5(1)(1993), 113-117].

1. Introduction

By a sequence space, we understand a linear subspace of the space $\omega = \mathbb{C}^{\mathbb{N}}$ of all complex sequences which contains ϕ , the set of all finitely non-zero sequences, where \mathbb{C} denotes the complex field and $\mathbb{N} = \{0, 1, 2, \ldots\}$. We write c for the space of all convergent sequences.

Let λ , μ be any two sequence spaces and $A=(a_{nk})$ be an infinite matrix of complex numbers a_{nk} , where $n,k\in\mathbb{N}$. Then, we write $Ax=\{(Ax)_n\}$, the A-transform of the sequence $x=(x_k)\in\lambda$, if $(Ax)_n=\sum_k a_{nk}x_k$ converges for each $n\in\mathbb{N}$. For simplicity in notation, here and in what follows, the summation without limits runs from 0 to ∞ . If $x\in\lambda$ implies that $Ax\in\mu$ then we say that A defines a matrix transformation from λ into μ and denote it by $A:\lambda\to\mu$. By $(\lambda:\mu)$, we mean the class of all infinite matrices A such that $A:\lambda\to\mu$.

Definition 1. [11, pp. 222–223] Suppose that $A = (a_{nk})$ is any infinite matrix of complex numbers and λ is any sequence space. Then, by λ_A we denote all those $x = (x_k) \in \omega$ such that the A-transform of x exists and is in λ . In the case $\lambda = c$ we have $c_A = \{x = (x_k) \in \omega : Ax \in c\}$ and c_A is called the convergence domain of the matrix A.

Definition 2. (cf. Boos [7, p. 167]) For given matrix methods A and B with $c_B \subset c_A$, by a Tauberian condition we mean the determination of a subset L of ω , such that $x \in L \cap c_A$ implies $x \in c_B$.

Essentially, we consider the case that B = I; that is, we aim to conclude from $x \in L \cap c_A$ that $x \in c$.

Mathematics Subject Classification. Primary 40E05; Secondary 40G05.

Key words and phrases. Summability by A^r methods, one-sided and two-sided Tauberian conditions, slowly oscillating sequences.

2. A^r Matrices

In this section, we summarize the required knowledge on the A^r matrices. Let 0 < r < 1. Then the class $A^r = (a_{nk}^r)$ of Toeplitz matrices, introduced by Başar [6], is given by

$$a_{nk}^r = \left\{ \begin{array}{ll} \frac{1+r^k}{n+1} &, & 0 \le k \le n, \\ 0 &, & k > n, \end{array} \right.$$

for all $k, n \in \mathbb{N}$. A straightforward calculation shows that the inverse matrix $B^r = (b_{nk}^r)$ of the matrix $A^r = (a_{nk}^r)$ is given by

$$b_{nk}^{r} = \begin{cases} \frac{(-1)^{n-k}(k+1)}{1+r^{n}} &, & n-1 \le k \le n, \\ 0 &, & 0 \le k \le n-2 \text{ or } k > n, \end{cases}$$

for all $k, n \in \mathbb{N}$.

Definition 3. (cf. Başar [6]) The A^r -transform of a sequence $(x_k)_{k\in\mathbb{N}} \in \omega$ is defined by

$$(A^r x)_n = \sigma_n^r = \frac{1}{n+1} \sum_{k=0}^n (1+r^k) x_k$$

for all $n \in \mathbb{N}$. We say that (x_k) is summable A^r to l if

$$\lim_{n \to \infty} \sigma_n^r = l.$$

We assume unless stated otherwise that 0 < r < 1. We should note here that a number of papers were published on the sequence spaces defined by the domain of the A^r matrices in some normed and paranormed sequence spaces, (see Aydın and Başar [1, 2, 3, 4, 5]).

Example 2.1. Define the sequence $x = (x_k)$ by $x_k = (-1)^k/(1+r^k)$ for all $k \in \mathbb{N}$. Then, it is easy to see that

$$(A^r x)_n = \sigma_n^r = \frac{1}{n+1} \sum_{k=0}^n (1+r^k) \frac{(-1)^k}{1+r^k} = 0$$

for all $n \in \mathbb{N}$. It is immediate that (x_k) is A^r -summable to zero while it does not converge to 0.

3. Main results

In the present section, we give the necessary and sufficient Tauberian conditions for the A^r method. Throughout this section, by λ_n we denote the integral part of the product λn , i.e. $\lambda_n := [\lambda n]$.

We need the following lemmas in proving our theorems.

Lemma 3.1. Let us define $\langle \lambda \rangle$ for every $\lambda > 0$ by $\langle \lambda \rangle = \lambda - [\lambda]$. Then, the following statements hold:

- (i) If $\lambda > 1$, then $\lambda_n > n$ for each $n \in \mathbb{N} \setminus \{0\}$ with $n \ge \langle \lambda \rangle^{-1}$.
- (ii) If $0 < \lambda < 1$, then $\lambda_n < n$ for each $n \in \mathbb{N} \setminus \{0\}$.

Proof. Obviously, $0 \le \langle \lambda \rangle < 1$. For every $\lambda > 0$ and each $n \in \mathbb{N}$, we have

(3.1)
$$\lambda_n = [\lambda n] = n[\lambda] + [n\langle\lambda\rangle].$$

Since $\lambda = [\lambda] + \langle \lambda \rangle$ and $\lambda n = n[\lambda] + n\langle \lambda \rangle$.

Let us suppose that $\lambda > 1$. In the case $\lambda \geq 2$, the relation (3.1) leads to the inequalities, $\lambda_n \geq n[\lambda] \geq 2n \geq n$. In the case $1 < \lambda < 2$, we have $[\lambda] = 1$ and $0 < \langle \lambda \rangle < 1$. So, we can assume $n \geq \langle \lambda \rangle^{-1}$. Thus, it follows from (3.1) that $\lambda n = n + [n\langle \lambda \rangle] \geq n + 1 \geq n$.

Let $0 < \lambda < 1$. Then we have $\lambda = \langle \lambda \rangle$. This implies that $\lambda n = \langle \lambda \rangle n < n$. Meanwhile, we have

$$\lambda n = [\lambda n] + \langle \lambda n \rangle \ge [\lambda n] = \lambda_n.$$

As a result, we reach the desired inequality: $\lambda_n < n$ for each $n \in \mathbb{N} \setminus \{0\}$. \square

Lemma 3.2. We have the following statements:

(i) Let $\lambda > 1$. For each $n \in \mathbb{N} \setminus \{0\}$ with $n \ge (3\lambda - 1)/\lambda(\lambda - 1)$, we have

(3.2)
$$\frac{\lambda}{\lambda - 1} < \frac{\lambda_n + 1}{\lambda_n - n} < \frac{2\lambda}{\lambda - 1}.$$

(ii) If $0 < \lambda < 1$, for each $n \in \mathbb{N} \setminus \{0\}$ with $n > \lambda^{-1}$ we have

$$(3.3) 0 < \frac{\lambda_n + 1}{n - \lambda_n} < \frac{2\lambda}{1 - \lambda}.$$

Proof. (i) Let $\lambda > 1$ and for each $n \in \mathbb{N} \setminus \{0\}$

$$(3.4) n \ge \frac{3\lambda - 1}{\lambda(\lambda - 1)}.$$

This implies

(3.5)
$$n \ge \frac{\lambda + (2\lambda - 1)}{\lambda(\lambda - 1)} \ge \frac{1}{\lambda - 1}.$$

So

$$\frac{2\lambda}{\lambda-1} - \frac{\lambda n+1}{\lambda n-n-1} = \frac{\lambda}{\lambda n-n-1} \left(n - \frac{3\lambda-1}{\lambda(\lambda-1)} \right) \geq 0.$$

Since for $n \ge \langle \lambda \rangle^{-1}$, $n \le [\lambda n] \le \lambda n$ and $0 \le \langle \lambda n \rangle < 1$, we have the following inequality:

$$(3.6) \qquad \frac{\lambda}{\lambda - 1} = \frac{\lambda n}{\lambda n - n} \le \frac{\lambda n}{[\lambda n] - n} = \frac{[\lambda n] + \langle \lambda n \rangle}{[\lambda n] - n} < \frac{\lambda_n + 1}{\lambda_n - n}.$$

on the other hand we note that $\langle \lambda n \rangle - 1 < 0$ and by the inequalities (3.5) we have

$$[\lambda n] - n + (\langle \lambda n \rangle - 1) = \lambda n - n - 1 = (\lambda - 1)n - 1 > 0.$$

Thus, we conclude the inequality

$$\frac{\lambda_n+1}{\lambda_n-1} = \frac{[\lambda n]+1}{[\lambda n]-n} < \frac{\lambda_n+1}{\lambda_n-n+(\langle \lambda n \rangle -1)} = \frac{\lambda n+1}{\lambda n-n-1}.$$

(ii) Let $0 < \lambda < 1$ and $n \in \mathbb{N} \setminus \{0\}$ with $n > \lambda^{-1}$. The straightforward computation leads to

$$\frac{2\lambda}{1-\lambda} - \frac{\lambda n + 1}{n - \lambda n} = \frac{\lambda n - 1}{n(1-\lambda)} > 0,$$

which implies that

$$\frac{\lambda n + 1}{n - \lambda n} < \frac{2\lambda}{1 - \lambda}.$$

Additionally, since $0 \le \langle \lambda n \rangle < 1$, we have

$$\frac{\lambda_n+1}{n-\lambda_n}=\frac{[\lambda n]+1}{n-[\lambda n]}=\frac{\lambda n-\langle \lambda n\rangle+1}{n-\lambda n+\langle \lambda n\rangle}\leq \frac{\lambda n+1}{n-\lambda n+\langle \lambda n\rangle}\leq \frac{\lambda n+1}{n-\lambda n}.$$

Therefore, we eventually obtain the inequality (3.3).

Lemma 3.3. If a sequence (x_k) is summable A^r to a finite number l, then for each $\lambda > 1$

(3.7)
$$\lim_{n \to \infty} \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} (1 + r^k) x_k = l$$

and for each $0 < \lambda < 1$

(3.8)
$$\lim_{n \to \infty} \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n (1 + r^k) x_k = l.$$

Proof. (i) Let $\lambda > 1$. For each $n \in \mathbb{N} \setminus \{0\}$ with $n \geq \langle \lambda \rangle^{-1}$ we have following equality:

(3.9)
$$\frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} (1 + r^k) x_k = \sigma_n^r + \frac{\lambda_n + 1}{\lambda_n - n} \left(\sigma_{\lambda_n}^r - \sigma_n^r \right).$$

Now, (3.7) follows from (2.1) and (3.2).

(ii) Let $0 < \lambda < 1$. In this situation, for each $n \in \mathbb{N} \setminus \{0\}$, we make use of the following equality:

$$(3.10) \qquad \frac{1}{n-\lambda_n} \sum_{k=n-1}^n (1+r^k) x_k = \sigma_n^r + \frac{\lambda_n + 1}{n-\lambda_n} \left(\sigma_n^r - \sigma_{\lambda_n}^r \right)$$

Now, (3.8) follows from (2.1) and (3.3).

Theorem 3.4. Let (x_k) be a sequence of real numbers which is summable A^r to a finite limit l. Then

$$\lim_{n \to \infty} x_n = l$$

if and only if the following two conditions are satisfied:

(3.12)
$$\sup_{\lambda > 1} \liminf_{n \to \infty} \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \ge 0,$$

(3.13)
$$\sup_{0 < \lambda < 1} \liminf_{n \to \infty} \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] \ge 0.$$

Proof. Necessity. Assume that both (3.11) and (2.1) are satisfied. Then, an application Lemma 3.3 yields (3.12) for all $\lambda > 1$ and (3.13) for all $0 < \lambda < 1$.

Sufficiency. Assume that (2.1), (3.12) and (3.13) are satisfied.

First, we consider the case $\lambda > 1$. Given any $\varepsilon > 0$, by (3.12) there exists $\lambda > 1$ such that

(3.14)
$$\liminf_{n \to \infty} \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \ge -\varepsilon.$$

For each $n \in \mathbb{N} \setminus \{0\}$ with $n \geq \langle \lambda \rangle^{-1}$, it follows from (3.9) that

(3.15)
$$x_n - \sigma_n^r = \frac{\lambda_n + 1}{\lambda_n - n} \left(\sigma_{\lambda_n}^r - \sigma_n^r \right) - \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right].$$

On the other hand, by (3.2), we have

$$\left| \frac{\lambda_n + 1}{\lambda_n - n} \left(\sigma_{\lambda_n}^r - \sigma_n^r \right) \right| \le \frac{2\lambda}{\lambda - 1} \left| \sigma_{\lambda_n}^r - \sigma_n^r \right|$$

and so

(3.16)
$$\lim_{n \to \infty} \frac{\lambda_n + 1}{\lambda_n - n} \left(\sigma_{\lambda_n}^r - \sigma_n^r \right) = 0.$$

Combining (3.15)-(3.16) gives that

$$\limsup_{n \to \infty} (x_n - \sigma_n^r) \leq \limsup_{n \to \infty} \frac{\lambda_n + 1}{\lambda_n - n} \left(\sigma_{\lambda_n}^r - \sigma_n^r \right) + \limsup_{n \to \infty} \left\{ -\frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[\left(1 + r^k \right) x_k - x_n \right] \right\}$$

$$\leq -\liminf_{n\to\infty} \left\{ \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \right\}$$

$$\leq \varepsilon.$$

Consequently, for each $\varepsilon > 0$

$$\limsup_{n \to \infty} x_n \le l + \varepsilon.$$

Second, we consider the case $0 < \lambda < 1$. For each $n \in \mathbb{N} \setminus \{0\}$, it follows from (3.10) that

(3.18)
$$x_n - \sigma_n^r = \frac{\lambda_n + 1}{n - \lambda_n} \left(\sigma_n^r - \sigma_{\lambda_n}^r \right) + \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right].$$

Using a similar argument as above, by virtue of (3.13) and (3.3), for any $\varepsilon > 0$ we conclude that

$$\liminf_{n \to \infty} (x_n - \sigma_n^r) \geq \liminf_{n \to \infty} \frac{\lambda_n + 1}{n - \lambda_n} \left(\sigma_n^r - \sigma_{\lambda_n}^r \right) \\
+ \liminf_{n \to \infty} \left\{ \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] \right\} \\
> -\varepsilon.$$

Consequently, for each $\varepsilon > 0$

(3.19)
$$\liminf_{n \to \infty} x_n \ge l - \varepsilon.$$

We conclude (3.11) by combining (3.17) and (3.19).

Remark. From the proof of Theorem 3.4 it turns out that even more is true: If the conditions (2.1) and (3.11) or equivalently, the conditions (2.1), (3.12) and (3.13) are satisfied, then we necessarily have

(3.20)
$$\lim_{n \to \infty} \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] = 0$$

for all $\lambda > 1$, and

(3.21)
$$\lim_{n \to \infty} \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] = 0$$

for all $0 < \lambda < 1$.

Remark. The proof of Theorem 3.4 can be modified so that its conclusion remains valid if the conditions (3.12) and (3.13) are replaced by the following ones:

(3.22)
$$\inf_{\lambda > 1} \limsup_{n \to \infty} \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \le 0$$

and

(3.23)
$$\inf_{0 < \lambda < 1} \limsup_{n \to \infty} \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^{n} \left[x_n - (1 + r^k) x_k \right] \le 0.$$

Definition 4. A sequence (x_k) of real numbers is said to be slowly decreasing if

(3.24)
$$\lim_{\lambda \to 1^+} \liminf_{n \to \infty} \min_{n < k \le \lambda_n} [x_k - x_n] \ge 0$$

or equivalently

(3.25)
$$\lim_{\lambda \to 1^{-}} \liminf_{n \to \infty} \min_{\lambda_n < k \le n} [x_n - x_k] \ge 0.$$

The right-hand limit in (3.24) exists and can be equivalently replaced by $\sup_{\lambda>1}$. Historically, the notion of slow decrease (with respect to summability C_1) goes back to Schmidt [15].

Corollary 3.5. Let a sequence (x_k) of real numbers be slowly decreasing (or slowly incresing). Then,

(3.26)
$$\lim_{n \to \infty} \sigma_n^r = l \quad implies \quad \lim_{n \to \infty} x_n = l.$$

Proof. For $\lambda > 1$, for each $n \in \mathbb{N} \setminus \{0\}$ with $n \geq \langle \lambda \rangle^{-1}$ we have the following inequality:

$$\frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \geq \min_{n < k \le \lambda_n} \left[(1 + r^k) x_k - x_n \right]$$

$$= \min_{n < k < \lambda_n} \left(r^k x_k \right) + \min_{n < k < \lambda_n} \left(x_k - x_n \right).$$

We have

$$x_k = \frac{(k+1)\sigma_k^r - k\sigma_{k-1}^r}{1 + r^k}, \quad \frac{x_k}{k} = \frac{\sigma_k^r - \sigma_{k-1}^r}{1 + r^k} + \frac{\sigma_k^r}{k(1 + r^k)}.$$

On the other hand if (x_k) is summable A^r , then we have $x_k/k \to 0$, as $k \to \infty$. Therefore $r^k x_k \to 0$, as $k \to \infty$. So, the condition (3.24) clearly implies the condition (3.12). Similarly, (3.25) implies (3.13). By Theorem 3.4, we have the implication (3.26).

Theorem 3.6. Let (x_k) be a sequence of complex numbers which is summable A^r . Then, (x_k) converges to the same limit if and only if one of the following two conditions is satisfied:

(3.27)
$$\inf_{\lambda > 1} \limsup_{n \to \infty} \left| \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \right| = 0$$

or

$$(3.28) \quad \inf_{0 < \lambda < 1} \limsup_{n \to \infty} \left| \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] \right| = 0.$$

Proof. Necessity. The proof is similar to the proof of necessity part of Theorem 3.4.

Sufficiency. Assume that (2.1) and one of the conditions (3.27) and (3.28) are satisfied. Let any $\varepsilon > 0$ be given. By (3.27), there exists $\lambda > 1$ such that

(3.29)
$$\lim_{n \to \infty} \sup \left| \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \right| < \varepsilon.$$

By (3.15), for each $n \in \mathbb{N} \setminus \{0\}$ with $n \geq \langle \lambda \rangle^{-1}$, we have

$$(3.30) \quad \limsup_{n \to \infty} |x_n - \sigma_n^r| \leq \lim \sup_{n \to \infty} \frac{\lambda_n + 1}{\lambda_n - n} \left| \sigma_{\lambda_n}^r - \sigma_n^r \right| + \lim \sup_{n \to \infty} \left| \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \right|.$$

In case $0 < \lambda < 1$, on the other hand, by (3.28) there exists $0 < \lambda < 1$ such that

(3.31)
$$\limsup_{n \to \infty} \left| \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] \right| < \varepsilon.$$

By (3.18), for each $n \in \mathbb{N} \setminus \{0\}$ with $n > \lambda^{-1}$, we have

$$(3.32) \quad \limsup_{n \to \infty} |x_n - \sigma_n^r| \leq \lim \sup_{n \to \infty} \frac{\lambda_n + 1}{n - \lambda_n} \left| \sigma_n^r - \sigma_{\lambda_n}^r \right| + \lim \sup_{n \to \infty} \left| \frac{1}{n - \lambda_n} \sum_{k = \lambda_n + 1}^n \left[x_n - (1 + r^k) x_k \right] \right|.$$

By (3.30) or (3.32), in either case we obtain

$$(3.33) \qquad \lim \sup_{n \to \infty} |x_n - \sigma_n^r| = 0$$

whence it follows that

$$\lim_{n \to \infty} |x_n - \sigma_n^r| = 0.$$

Now, we conclude (3.11) from (2.1) and (3.34).

We recall that a sequence (x_k) of *complex numbers* is said to be slowly oscillating

(3.35)
$$\lim_{\lambda \to 1^+} \limsup_{n \to \infty} \max_{n < k \le \lambda_n} |x_k - x_n| = 0$$

or equivalently

(3.36)
$$\lim_{\lambda \to 1^{-}} \limsup_{n \to \infty} \max_{\lambda_n < k \le n} |x_k - x_n| = 0.$$

The right-hand limit in (3.35) can be equivalently replaced by $\inf_{\lambda>1}$.

Corollary 3.7. Let a sequence (x_k) of complex numbers be slowly oscillating. Then, the implication (3.26) holds.

Proof. For $\lambda > 1$, for each $n \in \mathbb{N} \setminus \{0\}$ with $n \geq \langle \lambda \rangle^{-1}$; we have the following inequality:

$$\left| \frac{1}{\lambda_n - n} \sum_{k=n+1}^{\lambda_n} \left[(1 + r^k) x_k - x_n \right] \right| \leq \max_{n < k \le \lambda_n} \left| (1 + r^k) x_k - x_n \right|$$

$$\leq \max_{n < k \le \lambda_n} \left| r^k x_k \right| + \max_{n < k \le \lambda_n} \left| x_k - x_n \right|.$$

On the other hand, if (x_k) is summable A^r ; then $\lim_{k\to\infty}(r^kx_k)=0$. So, the condition (3.35) clearly implies the condition (3.27). Similarly, (3.36) implies (3.28). By Theorem 3.6, we have the implication (3.26).

4. Conclusion

In 1995, Móricz and Rhoades [12] obtained the necessary and sufficient Tauberian conditions for weighted mean. In [12], Theorem 1 gives a one-sided Tauberian result and Theorem 2 is an extension of Theorem 1 to complex sequences. Later, Móricz and Rhoades derived the weaker Tauberian conditions under which convergence of the sequence (s_n) follows from its weighted mean (N, p). They firstly considered real sequences and gave a one-sided Taberian theorem. Secondly, they considered complex sequences and gave a two-sided Tauberian theorem. These are more general than Theorem 1 and Theorem 2 of [13], respectively. In [10], Dik et al. introduce some classical and neoclassical Tauberian-like conditions to retrieve subsequential convergence of a real sequence (u_n) and some other sequences related to it out of the boundedness of the sequence (u_n) . In [8], Çanak and Totur generalize a result of Č.V. Stanojević and V.B. Stanojević given in [16] for

the general control modulo the oscillatory behavior of order m, where m is any positive integer.

Following Móricz and Rhoades [12, 13], we have derived the necessary and sufficient Tauberian conditions for the method A^r of summability in the present work. Although Rhoades [14, Corollary 2.2] proved the equivalence of the matrix A^r to the Cesàro matrix C_1 of order one, the main results are new since they are independently derived from the existing results. We should note that as a natural continuation of this paper, it is meaningful to obtain the necessary and sufficient Tauberian conditions for the Euler means E^r , the generalized difference matrix B(r,s) and factorable matrix G(u,v).

ACKNOWLEDGEMENT

The authors would like to express their pleasure to Professor Eberhard Malkowsky, Department of Mathematics, Faculty of Sciences, State University of Novi Pazar, Novi Pazar, Serbia and Department of Mathematics, University of Giessen, Germany, for his careful reading and making some useful comments which improved the presentation of the paper. Also, the authors are very grateful to the anonymous referee for valuable suggestions, advices and remarks on the first draft of the paper. Those comments are all valuable and very helpful for revising and improving our paper.

References

- [1] C. Aydın and F. Başar, On the new sequence spaces which include the spaces c_0 and c, Hokkaido Math. J. **33(2)** (2004), 383–398.
- [2] C. Aydın and F. Başar, Some new paranormed sequence spaces, Inform. Sci. 160 (1-4) (2004), 27–40.
- [3] C. Aydın and F. Başar, Some new difference sequence spaces, Appl. Math. Comput. 157 (3) (2004), 677–693.
- [4] C. Aydın and F. Başar, Some new sequence spaces which include the spaces ℓ_p and ℓ_{∞} , Demonstratio Math. **38(3)** (2005), 641–656.
- [5] C. Aydın and F. Başar, Some generalizations of the sequence space a_p^r , Iran. J. Sci. Technol. Trans. A, Sci. **30** (2006), No. A2, 175–190.
- [6] F. Başar, A note on the triangle limitation methods, Fırat Üniv. Fen & Müh. Bil. Dergisi 5(1) (1993), 113–117.
- [7] J. Boos, Classical and Modern Methods in Summability, Oxford University Press Inc. New York, 2000.
- [8] İ. Çanak and Ü. Totur, A Tauberian theorem with a generalized one-sided condition, Abstr. Appl. Anal. 2007, Art. ID 60360, 12 pp.
- [9] M. Dik, Tauberian theorems for sequences with moderately oscillatory control moduli, Thesis (Ph.D.) – University of Missouri – Rolla, 2002, 44 pp. ISBN: 978-0493-94991-8.
- [10] F. Dik, M. Dik and İ. Çanak, Applications of subsequential Tauberian theory to classical Tauberian theory, Appl. Math. Lett. 20(8) (2007), 946–950.
- [11] I.J. Maddox, *Elements of Functional Analysis*, The University Press, Cambridge, second edition, 1988.

- [12] F. Móricz and B.E. Rhoades, Necessary and sufficient Tauberian conditions for certain weighted mean methods of summability, Acta. Math. Hungar. 66 (1995), 105–111.
- [13] F. Móricz and B.E. Rhoades, Necessary and sufficient Tauberian conditions for certain weighted mean methods of summability II, Acta. Math. Hungar. 102 (4) (2004), 279–285.
- [14] B.E. Rhoades, Some sequence spaces which include c₀ and c, Hokkaido Math. J. 35 (2006), 587–599.
- [15] R. Schmidt, Über divergente Folgen und lineare Mittelbildungen, Math. Z. $\bf 22$ (1925), 89–152.
- [16] Č.V. Stanojević and V.B. Stanojević, Tauberian retrieval theory. Dédié à Jovan Karamata, Publ. Inst. Math. (Beograd) (N.S.) 71 (85) (2002), 105–111

ÖZER TALO
DEPARTMENT OF MATHEMATICS
FACULTY OF SCIENCE AND LETTERS
MANISA CELAL BAYAR UNIVERSITY
MANISA, TURKEY

 $e ext{-}mail\ address: ozertalo@hotmail.com}$

Feyzi Başar
Professor Emeritus, İnönü University,
Malatya-44280/Turkey,
Current address:
Kisikli Mah. Alim Sok. Alim Apt. No: 7/6
34692 - Üsküdar/İstanbul, Turkey
e-mail address: feyzibasar@gmail.com

(Received August 28, 2012) (Accepted July 17, 2017)